Answer Key

Practice B
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5. sin6 = 1; cos 6 = 0; tan & = undefined,
cot 6 = 0; sec # = undefined; csc f = 1

6. SN0 = —1; cos h = 0; tan & = undefined;
cot 6 = 0; sec # = undefined; csc = —1

7. sinf=0;cos6 = —1tand = 0O

cot 6 = undefined;
sec § = —1; csc 6 = undefined
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24, 0.3090 25. 1.1434 26. —0.5

27. —1.0515 28. Theterminal side of a 10°
angle would be in the first quadrant where the sine
function is positive. Your friend’s calculator was in
radian mode. 29. 307.75 ft; 312.5 ft; 307.75 ft



